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run_13100003 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13100003 _FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13100003 _FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Mon Apr 9 01:37:11 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13100003 _FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
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run_13100003 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13100003 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13100003 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13100003 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Mon Apr 9 01:37:13 2012
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run_13100003 _FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13100003 _FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Apr 9 01:37:18 2012
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run_13100003 _FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
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run_13100003 _FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Mon Apr 9 01:35:19 2012
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run_13100003 _FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13100003 _FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
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run_13100003_FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Mon Apr 9 01:37:57 2012
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run_13100003 _FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Mon Apr 9 01:35:30 2012
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run_13100003 _FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Mon Apr 9 01:37:58 2012
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run_13100003 _FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Mon Apr 9 01:37:23 2012
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run_13100003 _FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Mon Apr 9 01:37:58 2012
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run_13100003 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Mon Apr 9 01:35:35 2012
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run_13100003 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Mon Apr 9 01:37:24 2012
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run_13100003 _FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Apr 9 01:37:59 2012
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run_13100003 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Mon Apr 9 01:35:40 2012
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run_13100003 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Mon Apr 9 01:37:25 2012
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run_13100003 _FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Apr 9 01:38:00 2012
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run_13100003 _FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Mon Apr 9 01:35:41 2012
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run_13100003 _FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Mon Apr 9 01:37:25 2012
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run_13100003 _FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
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run_13100003_FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Mon Apr 9 01:38:08 2012
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Mon Apr 9 01:36:21 2012

ADC for FGT RDO=2,ARM=1,APV=12

[[ADC for FGT

RDO=2,ARM=1,APV=12 }

ADC-ped

=
1)

1000 2000 3000

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

4000

raw ADC

ADC for FGT RDO=2,ARM=1,APV=13

10

© BT R A e A A

APV channel

[ADC for FGT.

RDO=2,ARM=1,APV=13

ADC-ped

=
15}

0 1000 2000 3000

[ Apcfor

3

FGT RDO=2,ARM=1,APV=14
—

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40(

raw ADC

10°

© A A A

1
120
APV channel

[[ADC for FGT,

RDO=2,ARM=1,APV=14

ADCApedOA

raw ADC

[ ADC for FGT RDO=2,ARM=1,APV=15

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40(

10

aEldENRTERIAGNATGRAARNARRARRIATENATRNATENAG]

80
APV channel

[[ADC for FGT

Py
]

0=2,ARM=1,APV=15

1000 2000 3000

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

4000

raw ADC

[ ADC for FGT RDO=2,ARM=1,APV=16

1 H|'I1II'|HI'I

10

° nrl]lrn|r|1|[|1|r|1|r|]n|1

40 80 120

APV channel

[ADC for FGT

RDO=2,ARM=1,APV=16 }

3000
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

0

40(

500

10

.. . . e

APV channel




run_13100003 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
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run_13100003 _FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Mon Apr 9 01:38:10 2012
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